L’ Arrondissement (B)

3479

4612

5462

78 892

92877

664 544

654 462

826 940

Arrondissez chaque nombre ci-dessous a 1’unité de mille pres.

5886

1147

9898

98 827

93477

754 053

359322

133110

3257

9190

39967

87519

20719

106 780

608 321

7853676

6 485

1989

42017

86 874

48244

455 809

582063

4152769
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L’ Arrondissement (B) Solutions

3479
3 000

4612
5000

5462
5000

78 892
79 000

92877
93 000

664 544
665 000

654 462
654 000

826 940
827000

Arrondissez chaque nombre ci-dessous a 1’unité de mille pres.

5886 3257 6 485

6 000 3000 6 000
1147 9190 1989

1 000 9000 2000

9 898 39967 42017
10000 40 000 42 000
98 827 87519 86 874
99 000 88 000 87000
93477 20719 48 244
93 000 21000 48 000
754 053 106 780 455 809
754 000 107 000 456 000
359322 608 321 582063
359000 608 000 582000
133110 7853676 4152769
133 000 7854 000 4153 000
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